G 43-90-145-175

Motor (2)

O

=

41

B 3-11.00

G 43-90-145-175



G 43-90-145-175
Motor (2)

Pos.
34
34
35
36
37
38
39
40
41
42
42
43
44
45
46
47
48
49
50
51
52
52
53
54
55
56
57
58
59
60

Description

Gearing, 90/145 rpm

Gearing, 175 rpm

Hexagon socket screw M5x16

Gearwheel, compl. 90/145 upm, Resitex 48Z

Gearwheel 15Z

Ball bearing

Rondelle Spacer

Joint Paulstra Circlip
Hexagon socket screw M6x22
Gearbox with stator, 90 rpm
Gearbox with stator, 145/175
Chees-head screw M 5x60
Washer

Stator 145/175 rpm
Statorinsulation

Gearbox

Spring washer M6

Hexagon head screw M 6x20
Shaft seal

Ball bearing

Motor pinion, 15 teeth, 90/145 rpm
Motor pinion, 15 teeth, for 175 rpm
Spacer

Circlip

Ball bearing

Drive gear 487

Ring seal

Gear cover

Straight pin

Covering plate

Reference
2611673
2611723
P...487Q
3611147
3611149
6426405
6230251
6456812
P...486X
2611831
2611226
P...486M
623014
3611193
668611059
3611253
P...498U
P...470X
6456805
6426450
3611148
3611329
P...499WW
P...499K
6426440
3611025
6456846
3611143
P...512H
4611171





